PROFESSIONAL EXAMINATION BOARD
B‘bg;%fﬁgﬁ?grl] Middle School Teacher

board Eligibility Test - 2018
21-Feb-19 09:30AM-12PM

Topic:- Child Development & Pedagogy (CDP)

1) A textbook portrayed boys as intelligent and leading characters while girls as meek and emotional. This is an example of . ] b
YISUYE® A AS®! B gu 3R W U, 9P dsfral &t 99 iR ya—ras v # Rifya fFan ag BT
IETERT & |

1. Gender stereotype /%‘Tm
2. Gender discrimination /ﬁ"T 'QT:{

3. Gender identity /%TWCIHT

4, Gender sensitivity / INUEEEERING

Correct Answer :-

« Gender stereotype /ﬁmm

2) Two parallel railway lines of a track appear to meet after a certain distance. This is an example of

TUMTR YAd arg+1 &1 ¢ e g3 fewrs vsdt €1 s9e1 v Iqeur H
1. Muller- Lyer illusion /W—W‘Hﬁ

2. lllusion of perspective /aRE=a yHq
3. lllusion of movement/TIﬁ Yy
4, Optical illusion /%’f@ HH

Correct Answer :-

« lllusion of perspective /M UHq

3) Autismisa_____ ./ Gmﬂ:{@ %I

1. Attention Deficit Hyperactivity disorder/ SATI-HHId SffaafhadT faerR

2. Bipolar disorder/ %ﬂa IECAN (EITE“EI‘IFI'{ Wg?)

3. Oppositional defiant disorder/ faueft JES IECAN (&ﬂﬂﬁiw f&the %Rﬁ‘é?)
4. Neuro development disorder. /@ fapr fasRr

Correct Answer :-

« Neuro development disorder. /mj fard fasR

4) A teacher can diagnose a child's consistent failure in school performance as: / T ﬁT&‘ﬁ?, EEIGLED EI?F{h i | TP T P AR Bl BT
a1 f=T U B @ g 8

1. A concern needs to be escalated to higher management / 3™ TS & %I'Q IEGICE] aaﬁﬁ W%l
2. A disciplinary problem / 3{IRIITHD THAT|

3. A learning disability or special education need / ST 3f=radar a1 fagiy fRrer @ &HHW%I

4. A need to change school /ﬁwmﬁaﬂ \}HEIWT%I

Correct Answer :-

« Alearning disability or special education need / ST 32T ar ARy e ot W%l



5) Blind memorization is called . / 3% TRU (TS S ARRISHT) Ppgar gl

1. Recitation / ¥R UI6

2. Rote learning /Wef gRT 3Ty
3. Meaningful learning / GTQhIUf SfeTH
4. Repetition / W

Correct Answer :-

« Rote learning / e gIRT 3fee

6) Which of the following is the correct order in lesson plan? /Frafafaa # S «ar ureasw aieAT § GEHEZ %‘.’

1. Motivation-Presentation- Recapitulation - Evaluation -Home Assignment/ ﬁw-uﬁﬁr-g?ﬁmm - A - 8 ﬂ'ﬁlﬂﬁ'ﬂ:{

2. Motivation-Presentation-Evaluation-Recapitulation-Home Assignment / W-W-W-WUT- T8 Wﬂ%‘ﬂ:{

3. Motivation- Recapitulation -Evaluation- Presentation -Home Assignment/ SRUIT- EWUT -W—Wﬁf -8 Wﬁ
4. Presentation - Motivation -Evaluation- Home Assignment — Recapitulation/ Wﬁﬁf - W—W- e Hﬂﬂa’gﬂ - W?’FT

Correct Answer :-

« Motivation-Presentation- Recapitulation - Evaluation -Home Assignment/ Wﬂ-?ﬂﬂﬁf-lﬁ'ﬂiﬁﬂm - A - 78 YHIGRM
7) The method of study used by Behaviorists was: /W@Tﬁ GRT U e+ | q@ﬁf ot

1. Survey/ ﬂﬁ&‘m[

2. Introspection/ STAMRIE

3. Case study/ﬁﬁ

4. Observation/ 3ATIH

Correct Answer :-

« Observation/ 3{dal

8) The religion to which the individual child belongs is part of the ./ i R safarra s=m Seifa _EﬁaT % ag__ I fewan %I
1. Inheritance / TRITITCIT

2. Prenatal environment / WW

3. Social environment / JTHITE TITAROT

4. Physical environment / %Wﬁﬂm

Correct Answer :-

« Social environment / FTATSTE TAfGROT

9) Personality tests must be/ HfRTd tlﬂ&-l'UT ffr= _tﬂqT i“'%'q:
1. Gender biased/ TeiTT U&TcT

2. Have as many questions as possible./ 3 I 3B Ty arer

3. Reliable and valid / fJ3%1a 3fR 3y

4. Innovative / TATRI

Correct Answer :-

« Reliable and valid / [a%=g 3R 3y



10) During the process of child development, / & & fasra 3 ufehar & R,

1. Specific functions are followed by general functions. / m Eb‘[qc I BT B diq [EREIG] %I

2. Both general and specific functions happen simultaneously. / JTHR 3R fafRry P gt TS W g %I

3. General functions are followed by specific functions. / JTHR ara‘, fafery Pl & TG [Hd S %I

4. General and Specific functions are not dependent on one another. / HTHR 3R m LA W-@% R AR q’Eﬁ%l

Correct Answer :-

« General functions are followed by specific functions. / JTHTI BT, fAfRIY Sl & o1 P ST B
11) Dalton Plan does not have:/ STee- AIST (SV'IR:TWF{) A8 8:

1. Self-paced learning / T8 RSECEl

2. Time table / THI-GRUM

3. Co-operation / W@FT

4. Freedom / Wa7dl

Correct Answer :-

« Time table / GHY-TRUft

12) Understanding what is right and wrong forms part of the development. IE: ] 3R T Bt GEED 3-17'“, g e #1
fr=?l

1. Cultural / W

2. Social / THTSIH

3. Moral / W

4. Vocational / SATATRI

Correct Answer :-

« Moral/ fde

13) According to Erik Erikson an individual goes through developmental stages. /Qﬁ?f 'Qﬁﬂ:f * SR, Th fed
fawTaTaT® TR | FHR Torar g1

1.7
2.9
3.4

4.8

Correct Answer :-

14) How are learners who do a task with performance as the goal are characterized?/ &0 af *q ﬁ' uﬂh ﬁ? 1Y Th mmﬁ a'lﬁ
gl Bt fadwar 7 @2

1. They engage in work to do better than others./ 3 m i) m IRAD 1%1'[{ & H I Eﬂ?f % |

2. They see mistakes as an opportunity to learn/ 3 TR} T TRAT & HTHR P =Y H oad g

3. They want to be seen as smart and intelligent/ d TTE 3R JHZIGR feaT T B

4. They compare and judge their performance with others / J GERI & TTY 30 UG B T I § AR ITB! ol B ¢ |

Correct Answer :-

« They see mistakes as an opportunity to learn/ q A P W & IR & =4 J g@d %l



A child is unable to learn a new way to play Uno because he has already learned a different set of rules. What could be the reason for this? / b

gwmﬁ@aﬁ%ﬁqnwaﬁmmﬁﬁmﬁ%ﬁﬁﬁmﬁﬁmﬁwmwél SHST T RN 8 Jobdl
?

1. Spontaneous recovery / g5l gtmTﬁ?[

2. Retroactive interference / UgEﬁH@ﬁ SARTY
3. Proactive interference / \}m SRTY

4, Delayed effect / faafrad gua

Correct Answer :-

« Proactive interference / W SRIY

16) A child says that his friend who is 5 feet tall may be older than his uncle, who is only 4 feet tall .This approach of interpreting age by height of
an individual can be attributed to a childin ______/ Ueh Sed1 Hgdl & [ IUDT QI Sl 5 BIC Al 8, T8 3T T4 & 1 81 Hebpell
, 5t $ad 4 Bie a1 3| st safea 9t Sarg ot aren #31 & s T S # 9= & RrgR 38T oI adr
:l

1. Formal operational stage / e Tfhared ra=iT
2. Sensorimotor stage / TR SR

3. preoperational stage /@W HARIT

4, Concrete operational stage / Ilj Tfrard® sawiT

Correct Answer :-

« preoperational stage /EL?:‘WW HARIT

17) Which of the following does not negatively affect prenatal development? / faffead I s s ‘Iff t’pﬁ. ara fasTa #1
TPRIES FY H YU T8 a1 32

1. Caffeine / PP

2. Exercise / SATATH
3. Alcohol / RS

4. Radiation / fafasRuor
Correct Answer :-

« Exercise / H

18) Which of the following is not a type of prelinguistic speech? frafafeada = TP YDPR DI Mfifafes aita i %?
1. Cooing /WT

2. Babbling / SSISTHl

3. Telegraphic speech / Tt HTSOT

4. Crying / I

Correct Answer :-

o Telegraphic speech / THth e HTSOT

19) Which of the following is an example of fine motor skill? frafaf@ada a9 3Py e HIA BT T 3qIerul %‘.’
1. Climbing / d@-l

2. Hopping /W HRAT

3. Running /a??:ﬂ

4, Writing / feram

Correct Answer :-



o Writing / forg=n

20) What is the part of memory that stores previous experience? / Wﬁ' 1 98 fewar < fusa SHT I UG Bl %7
1. Procedural memory / Ufsh AT Fjﬁf

2. Non-declarative memory / RGeS Fﬂﬁf

3. Semantic memory / 3f ?j'@jﬁf

4, Episodic memory / ITE (Eﬁ@ﬁf@) Qﬂﬁf

Correct Answer :-

« Episodic memory / Ui (Qﬁ@%ﬁﬁ) gﬂﬁf

21) What is the term used to denote a thinking strategy that may lead to a solution, but also may cause errors? / Q_\ﬁ' 4 fafd «) fAefa

P & fore fore ufa o1 Iuah fpar wimar @ S ganeT= 2 9t 3, W 39w Ffear ot gt wadt @2
1. Intelligence / @

2. Syllogism /W (ﬁc_vﬁﬁm)

3. Algorithm / TAENRYH

4, Heuristic / Wﬁlﬂﬁiﬁ (Xdd: Qﬁ‘ﬂ‘)

Correct Answer :-

o Heuristic / Wlﬂﬁa; (Xdd: Qﬁﬂ)

22) What characteristics are depicted by permissive parenting? / W Te-I-uTyor gRT P ﬁ!ﬂw& e ﬁ?ﬂ %:?
1. High warmth, high control / 3= 3dIg, 3= IBRELI

2. High warmth, low control / 3 3G, ﬁﬂ;[ ﬁ'q—ﬂUT

3. Low warmth, high control g 3IdMg, 3 gz

4, Low warmth, low control g Mg, 9 g

Correct Answer :-

 High warmth, low control / 3= TG, g iz

23) Who among the following does not propose a developmental theory involving stages of development? / fafsfea 4 e e &

TN A S fawTa Rigia &1 wga 781 fear?
1. Freud / /hIIS

2. Bandura / SIGRT
3. Piaget/ oS

4. Erikson / Qﬁfﬂﬂ

Correct Answer :-

« Bandura/ S

24) People with linguistic intelligence possess? / 'HTWI% g@tﬁ“ ¥ Yud safaaal & S1F-3t e gt %7

1. sensitivity to numerical patterns/ GATHD gfa & ufd Gag=itaar

2. abilities to produce rhythms/ Td/dlcl A DI &

3. appreciation of the forms of musical expressions/ Tt &t sificafaadl & =i &t Wl

4. sensitivity to the sounds, rhythms and meanings of words/ %aﬁ, SRGISEEIR Tea & 37t & U Hag=itaar

Correct Answer :-



« sensitivity to the sounds, rhythms and meanings of words/ €af, /T SR Tsal & YT & Ui Yae=iad

25) What is the main purpose of state certification of teachers? / FR1&rpY ) ST THTOI &4 BT q8 G%'Rq wTR?

1. To exclude from the profession those who are mentally unhealthy/ S ARG ¥0 ¥ 3RaR § I8 ORI ¥ qTeR A & fog|

2. To exclude from the profession those not trained in pedagogy/ TRI&TRIRE H URITAT 8T 819 aTel o U Y §18R B & fory |
3. To monitor the quality of teacher training institutes/ fr&fe TfRrefor TR B RINCKII P TR AT

4. To provide for a uniform standard of entry-level teacher competency throughout the state/ fR I | YR ¥R & R1ed
Il 1 T FHH HIHb YGH B & feu|

Correct Answer :-

« To provide for a uniform standard of entry-level teacher competency throughout the state/ 1@' I | YR ¥R & R1ed
IRYT BT U THH TS UaH HH & fau|

26) CANCELLED
What is experiential education? / IJHATHD ﬁT&‘lT T %?
1. A curriculum with well defined students learning path / U UTGUshH foraH 33 avg T B & SHfUTH &1 AN g 81

2. An educational philosophy based on the idea that learning occurs through experience / b ‘xﬁf&ﬁﬁ AT foaR W snutid % & affem , {JHd
AT AR

3. It is learning through experiments / & &lﬂll?:ﬁ & WEd J T %l
4. Learning through continuous practice /ﬁR._CR- W™ @' S|

Correct Answer :-

¢ An educational philosophy based on the idea that learning occurs through experience /@m AT AR W snutid % & m, 3H{JHT
AT A AR

27) CANCELLED

According to Maslow, which of the following needs are referred to as the Deficiency Needs? / Rl & SR, g smazgwarsi A § o
FH P ATTGHAT S =Y | AT A1 32

1. Belongingness, Esteem, Safety, Self-actualisation / 3T, HI=dT, gR&T, IH-fafg

2. Safety, Belongingness, Esteem, Self-actualisation / gR&T, STUATY, HIIdT, H-fafg

3. Physiological, Belongingness, Esteem, Self-actualisation / "\"ﬂﬁﬁiﬁ, S{UATY, {1, ImH-Fafg
4. Physiological, Safety, Belongingness, Esteem /W, RE&T, YT, AT

Correct Answer :-
« Physiological, Safety, Belongingness, Esteem / IR, RE T, YUY, {4l
28) CANCELLED

Which of the following describes relevance in relation to a new topic?- / fafafRaa d a P TP Ad¢ fawg & Hay # ursfiredar &1
quiq Har 82

1. The perception that something is worth knowing/ ST fo Ed3 EIEEKD] %

2. A real life situation / Y qREfg Sita ot R

3. A story related to the topic/ fowg 4 defq Udh HoHl

4, Same for all learners in any context/ fopaft oft Tk o wadt frenfiat & ﬁ'ﬂ-{ qHH

Correct Answer :-

« The perception that something is worth knowing/ SRy fos P S arg %



29) which of the following tests involves the analysis of stories and interpretations of the underlying personality? / ﬁ'&lﬁl‘@a

Tieon # A frad siafifta afdra ot sl ik aarensit &1 faxayor i giar 82
1. Thematic Apperception Test / TaST {TeETLH TRT&0T

2. Ink-Blot Test / RTg1-HeaT URI&0T

3. Word Association Test / X1sG Tt TRI&UN (T8 THIRUIE )

4. Story Telling Test / YT AT UI&TT

Correct Answer :-

. Thematic Apperception Test / fawg sfTeatYA Rl

30) which of the following is correct sequence of motivation? / frafafea # @ 19 a1 sifiuRon &1 EHE 54

1. Drive, need , goal directed behavior, goal achievement, drive reduction /Wﬂ?{, HTARgehdl, d&d ﬁﬁﬁmﬁ, q&g m@r, Wﬂam
2. Need, drive reduction, goal directed behavior, goal achievement, drive / TR, Q'Un_dm, q&d ﬁ%ﬁ‘lﬁ dgR, d&g G‘W‘@, yuile
3. Need ,drive, drive reduction ,goal directed behavior, goal achievement, / STARIh I, Q‘Uﬂ'c{, qulig B, d&d IBEER] dgR, T IUAt
4. Need ,drive, goal directed behavior, goal achievement, drive reduction / STdRIh T, U‘Uﬁ?{, &g ﬁﬁﬁ AdgR, d&d B'QT‘T@, e 'l

Correct Answer :-

 Need ,drive, goal directed behavior, goal achievement, drive reduction / 3{TIRIh ]I, Q'Uﬁa, e FERd IR, A& dq(‘ﬂ{@, Tulle g

Topic:- General Hindi (L1GH)

1) Ueft iR Area

T W ¥ SIHA &

it T HeTew @

O TETR P 9 §

&9 Al WA e U ¢
WR 3@t ars fafgat
U5, M9, urft ok BT
Eieckdl

BH 1 Pad U 3ipd §
o ww =1 ot e

TW 39 B! gy dordt 1
3R 9 TRY ga1 & R g
qfgrat it uiel w forar &
3R TP 3= BT UTY

g S H U

T RRar B1

ITHR U B UGHR 1 IS 9 9T YR BT &R Ia15¢|
UT: B A WTEH $ STl B g fead B ?

1. Had gaft

2. A dlad

3. ol

4. g&ft SR Srad gt

Correct Answer :-

. U&ft 3R sred gl

2) Ugdl dierd! fbed SATeHaRT 991 aral fheeR 4 3dRR TA. St 3ERR A 1929 ¥ gieligs o1 T dierd! fbew ‘Tt die’ 3wt 3k 971 771 &

mﬁmaﬂﬁaﬂmmﬂlmvﬁm%w%ﬁumaﬁmmwa@%mmaﬁwmmlwm%a—émﬁaﬁ%aﬂ

fire & @ 1T Q| U e W SERR A IW T HET UT-"FHR U B3 WG AWP -1l oI, MapR a1 T, WiasR g 411 37 qaa! w3 gt

Qﬂlﬁ&ﬁﬁ%ﬁ%ﬂﬁ%ﬁlﬂﬁﬂﬁﬁgﬁﬁlﬁﬁﬁ%ﬂﬁm?ﬂ?mm FREMaH 3R arafer o1 gwauTa f3ar war| smara IRt #

gﬁ:ﬂwmgﬁﬁwﬁwmﬁwmmﬁmmlmﬁmﬁmm&mﬁmm G| Ugdl T UT- '8 & GaT & A W AR, R
aHa gl

ITI T B UGHR 1A YD T U= BT Sk qa1zu|
U: 390 @ B Tt A a1 BT SUBIT E 82



1. grgfed

2. TR
3. el

4, TRAFTH

Correct Answer :-

3) Ugel dterd! fibed STaHeRT oM ardl fibereR A 3ERR TH. SN 1 3ERR A 1929 # gidigs #1 ts derdl fived ot die’ 3& iR ST 7 &

At fired 9 P 551 1l | TR T F TP ABUT A1eP B YR T916R 3514 U1 e Bt UehyT I8 | 59 A1eP & B8 M4 I & &t

fire & @ 1T U1 U Sery W SERR A IW I5 HET YT-"FHR U B3 WG AWP Tl oI, MapR a1 T, Wiasr g 411 37 Jaa! w3 gt

§t1 SRR A firew & T & e W 3t ¢ T e & Ifta & wew A arer-aean, sRETE R IaRE &1 sx9e far ) srar SRt &

éﬁ;ﬂgﬁmeﬁﬁﬁaﬁmﬁﬁmmqﬁWW|mWﬁwﬁm@maﬁmm.mlmwtﬂ-‘%%@$ﬂmwmﬁ,m
qea gl

ITa T B Ug@R - I T U= BT Sk gargy|
U: SRR fren & R 42

1. W SETGR 3G RR TH. S

2. 91, Ryt

3. ATAHEE

4. S TH TH

Correct Answer :-

- G TEIGR SRR TH. A

4) gl Sieret firer SMTAHSIRT 1 91d freraR 4 SRR . T SRR 7 1929 # gichigs F e diad fver ‘2l die’ I ok S9% 7 &

Had! e 9 P 351 1l | UR T F TS ABUT A1eP B STUR T916R 3514 U1 e Bt UehyT I8 | 59 A1eP & B T I & &l

firem o A frw U1 U Sevay H SIERR A I 999 HET UT-'UR UM $HS Talg AW a1 4T, Nasr 78 41, Thasr 8 411 37 Jaat s g

9t1 SRR A e & T & e W 3t ¢ T frew & Ifta & wew A arer-aaan, sROTT iR IaRE &1 s9a far i srary ST &

éﬂ;ﬂ;wmrgawﬁﬁﬁmﬁﬁmmqﬁWW|mWﬁu’sﬁm@maﬁsﬂm.mlmwm-‘ﬁﬁaa%mwmﬁ,am
aEa gl

I T B UgR - I T 4= BT Sk gargy|
U: IBI ST fhest o Ued YT ST STYR ST AT?
1. If e

2. TH AP T

3. 9% AR @

4. URY! TTHT & T Al Alch

Correct Answer :-

. TR T & TP AB I Aleh

5) Ugel slad! fed STAHART 1 a1e e R 4 SIGRR Th. -1 ERR 7 1929 # gichge #t us siad! fben ‘<t die 3t iR STd wa &

et e g9 B 3581 Wit | TR T & TP ABUY AP P SR TATHR 317 U1 e Bt UeH YT 9915 | 39 ATeH & 3 M4 Sl & O

firem o 3 R U1 U evay H SIERR A I g9 BT UT-'UR UM H1S Talg @ gl 4T, Masr =g} 41, Tfaer a8 411" 37 Tast o3 g

9t1 SRR A e & M & e wad #1 ¢ g few & Ifta & wew A arer-aean, sREMTY 3R IARMA &1 sA9Ta {691 T ey ST o

gﬂgnm?wnﬁmwﬁmeqﬁWW|wWﬁmmmﬁm@.W|me—‘%%m%wwmﬁ,m
aea gl

I TR B UG I ID 7T U BT Sk garsy|

w: fore firen Y Swa @M TRIgR SRR R &t A fivew 9 91 501 592
1. 5 31 g7

2. QMEe

3. SH YA Tal

4. T A™H

Correct Answer :-

. qee



6) TECl Sierd! fiPed STAHSIRT S aTd firer R A SRR TH. 11 SRR A 1929 # gichgs Pt ¢ diad! fibew ‘< gie’ 35t 3R 37 7 #

! fred 9 P 351 it | UR T F TP ABUT A1eP B TYR T916R S5I4 U1 e Bt UehyT I15 | 59 A1CP & B8 T4 I & «f

firem & A frw U1 U Sevoy H SIERR A I 999 HET UT-'UR UM H1S Talg AW a1 4T, Nasr 78} ¥1, Tfiasr a8 411 37 Jaat s g

4t 3ERR 7 fren & T & forg W 91 ¢+ T | fvew & wwfia & wewt i aregr-aaan, sRATTY SR e &1 swauTd far | ren 3Ry &

gﬂgnmrgawnﬁmw%ﬁwﬁmmqﬁWW|wﬁwqﬁusﬁmmaﬁmqw.wﬁlmwm—‘%%@ﬂ%mwmﬁ,m
dared 21

I T B UgHR - I T U= BT Sk gargy|
W: gl diad e 32

1. AHTTHART

2. 3 oftgT ST

3. TH AP TR

4. o1 gRE

Correct Answer :-

o HIAHSART

7) ugel dierd! fred STaHaiRT s ard fireaR A SRR TA. AT SRR A 1929 # gidigs &t U diad! e ‘=it dle’ 35t 3R b w1 #

et fred a9 @ 3581 Wit IR THT & T AGRA ATed B YR TATHR I U1 fer Bt UeH YT 9915 | 39 AIed & s T+ oAl & i

firem o o fRrw 71U 1 U $evey H SIERR A I g9 BT UT-'GUR UM H1S Halg A Al UT, Masr A8 41, THasr a8 411" 37 Wast 3ATd g

ft1 SRR A e F M & Riw wad #t 4= g few & Wfta & wew A arer-aaan, sRETT 3R IARMA $1 39T {691 T ey ST o

gﬁgnm?wwﬁmwﬁﬁmwﬁWWIwmﬁﬁmmﬁwaﬁmqw.WImwm—‘%%w%wwmﬁ,m
ared 81

UG TV B TgHR A1 IS Y U BT I« T3
;<o T & aread 8?2

1. WYY

2. H3RTA

3§98
4. Syl

Correct Answer :-

8) Ul dad! frer TaH3IRT ¥ ara fbera R A SRR Ta. S SRR A 1929 # icfigs ot tw diad! fren ‘it dle” Taft ek ST 7 &

et e 91 B 351 1l | TR T & UF AR AeE B TR T11HR I U fired &Y Uehyl 915 | 59 ATed & &3 T Ul & @i

firem o o 1w 71U | U $evoy H SIERR A I g9 BT UT-'UR UM H1S Halg AW Al 4T, MNasr 8! 41, THasr a8 411" 37 Wast e3ATd g

9t1 SRR A e F M & Riw wad #t 4= g e & Wfta & aew A arer-aadn, sREMTY 3R IARMA $1 39T {591 T ey ST i

aﬁﬁwﬁ mrﬁaam% o wadad & A [t 1 9w 78 510 M1 39 e # gd unfae 99 S, T, @ | UgEl T U1- 'S @ Gl & AW R WR, 3R
aea gl

UG T B TGHR A1 IS Y U BT I« I3
e e &1 fid v 32

1. Gifid

2. 3Tt

3R

4, QYT

Correct Answer :-

9) Ugel Siad! fired STAHSIRT S a1 fireeR A SRR TH. T SRR A 1929 ¥ gdigs i TP diad! fbew ‘20 die’ 34t 3R 376 a4

At v 91 I 351 Tl | UR THE F TF ABNT ATeP B STYR T9T6R S5 U1 fhed B Ueh 1 I8 | 39 AP & B3 T I & f

firew o & 1T 10| U $evey W SERR A I g9 HET UT-'SUR UMY HIS Hdlg aad a1 4T, MadR 81 41, THadR T81 411" 37 Was! JH3ATd g

ft1 3ERR A v F T & Riw wd F 4= | fen & Wita F aew A arg-aaan, sRETH 3R I &1 39T 61 T A ST o

gﬂ;@?mgmﬁwﬁw%%ﬁmwﬁMW|s’afﬁmﬁu‘sﬁm&‘tma#m@.mlmwm—‘%%@%wwmﬁ,m
GICTRAY

ITT T B UGHR A IS T W= BT IR qarsg|



e e &1 W g 32
1. BIHT

2. R

3. fRrp

4. ool

Correct Answer :-

10) Ugel St e STAHSRT 991 aTd fheeR ¥ SRR TH. T 3ERR A 1929 ¥ gldligs 1 Us diad fhed ‘2N die’ It iR ITH 7 o

At v 91 F 351 Tl | UR TTHE & TF ABUT ATeP B STYR T9T6R S614 U1 fhed Bt UehyT I8 | 59 A1CP & B3 A Sl &t

firew & & 1T 71T1 U $evey W SERR A I g9 HET UT-'UR UM HI1S Talg A 81 4T, Madr A8) 41, THaer T8 411" 37 Taa! JaATd g

8t AERR A firedr F A & 1T g ot ¢+ g1 1| v & Tefta & wgwt N arer-daan, sROE SR arafem o1 sxume fear i smemy o &
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9T AT d*!'(:ljdlci qui;;. RIFTH: | GLATRTUT-ToA0T a FAGAGTATION
geeHgn: | faaesl WANIRT docd IRATH| Tl Hqsd: Hgcdl ATl
gRfEd: 31s1ad]|

A HRUIA GRT YEI FFaodT: [AheIhdr:-
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Correct Answer :-
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31 THfAC faA=TH AH? a7 3Tad- HAfdsEr gerf=r fgevd: A
fatrete| TAETd: YSrISTaed 0T-EIN-FaHd - fcd-3uATdr-oeT-
VAT J Sl SAelecdd| e T: geralar AN Jonam sfeavor
Wﬁﬂﬁmﬁﬂw %lﬁ?—rﬁ@?ﬂ?&. #afd, d awﬁ? aGled Stell: |
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disded, ARG Aieded| faAETET FUAT HYAT HIsT: Thed
ERIehRTelal ShIRITAT FEHTON AT holAeTd | Td TARET SR G
fARESdT: T JHHREUAT TeeET GIHZANYT fhad| Tl Tl
3c 99 faeary AN, Adrfa, gz, smyonfa o siq g
T | f[aeEda $UAT 9 JACTANT g FHAT:, TFER ST
THHN: TG, T RRTedl ITERTIAT E.TGT AT AT | JOTdeToT-Ie0T
9T AT d*!'(:ljdlci qui;;. RIFTH: | GLATRTUT-ToA0T a FAGAGTATION
geeHgn: | faaesl WANIRT docd IRATH| Tl Hqsd: Hgcdl ATl
gRfEd: 31s1ad]|
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o ST I HIATATHTSEI ML |
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gf=ie ufScar UsTEd &f__l,sgagrdi qIad -

UY: e AWH: | 3T AHEY AH FAYFIRHA 5 | 3T AT
frear * sfa 1 3@ YIIG: camufdaniey g a1
[BEC TR AT L M 1T UY: sfagrauias: 3IRd | 3T
ﬁmﬂw REAYSIY Gdlerd: AT | HSAYS: * giveda: ' sAd
gflg: | 2a&g cdemet IEfda: meealed |0 93 AN 98T {cda:
safd | fafagsey 3uRk ey Jusd | dovy aFa: RJusa a&g
Ucedl Qedl | T SiaIoTd: gfdefet: aromafe: 3Red | Saed qc: aAodl
faterd |

THET 37l el Tdd: e | gaaed =1 Jffgudd: sfd |
vdd 9id Ied TATIRINOTH FAAT: IFaeTHl | G, 959 A
3gdicd | OMEH Y THAAY ST T FHel: FEATT | 3T

A ¢R6 Tlaleald YS?l 3fed | 319 TReggH 3T gad |
yaaed faY Teercar QAT €97 g5¢ AFAd | AT el
fAcaeReart #afd | udaea 39 glarfs qonfa aded | 31 EA =
UTET: 8Toclehl: T Hicd | ATH fADYT Thr e Fgfd | T&am: =1
Afegell 3t | G 39Td: 3felch ATAT: Aled | IH FAaT * (A
Sferard: faead |

RHIYSIEY TATCHT: hal Hald ?
, ATHAY
N JUrgATH

IT A
ATCHCHATY
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3.

Correct Answer :-

Bk
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25)

IRTIC ITScdl TR AGHH AT -

31 THfAC faA=TH AH? a7 3Tad- HAfdsEr gerf=r fgevd: A
fatrete| TAETd: YSrISTaed 0T-EIN-FaHd - fcd-3uATdr-oeT-
VAT J Sl SAelecdd| e T: geralar AN Jonam sfeavor
Wﬁﬁﬁmﬁ%%lﬁ?mm #afd, d ?:’I._:rﬂﬁ? dgied Sl |
3mefAchel faaalel TORET z-—cwcma' uRafdd#| e arquT Yo e
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dieded, AARICAN Aeded| faAET FU 3TELAT FHST: Uchel
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fARESdT: T JHHREUAT TeeET GIHZANYT fhad| Tl Tl
3c 99 faeary AN, Adrfa, gz, smyonfa o siq g
T | f[aeEda $UAT 9 JACTANT g FHAT:, TFER ST
THHN: TG 9T RRTed ITEURTIATT a’rsr I FHAT: | STUTdETOT-Ie0T
aT GEHATH Cl{'dodlci qug I | GLAIETUT-IeAUT G AGAGTATION
g | fafielel WAUIRT docd IRAITH] Vel Fosd: Hgcdl Al
gRfId: 37e7ad|
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U

Correct Answer :-

Correct Answer :-

Topic:- Science (SCI)

1) If a person is not able to see an object which is at a distance more than 5m from his eye, then the power of the corrective lens should
be: /

afe FI< Afd sroeh 3ifE A 5 Hiex F oiftre gl R Rua o ~g &1 3@ A wem 78 ], o) I A o5t ufd g+t ol
1.-0.2D

2.5D

3.-0.5D

4.2D

Correct Answer :-

« -0.2D

2) What is roughage? / G&IT=T T Eﬂ% %'?
1. Vegetables /ﬂ%ﬂ?ﬁ

2. Grains / 3{IS]

3. Fruits / ™ d

4. Food fibre / YRS 3T

Correct Answer :-

« Food fibre / XM TSl

3) What is the principle behind the ball bearing? /

aie JafT & @S w1 Rrgia 82



1. Sliding friction is greater than the static friction. /ﬁﬂ'ﬁ‘ﬂ ‘JETUT, Wfde gy § 3 5

2. Rolling friction is greater than the sliding friction. /ﬁﬁm Wwaﬁ EI'EfUTQ 3 aﬁT%l
3. Rolling friction is less than the sliding friction. /ﬁﬁm YT foh g aTe Oy ¥ ﬁﬁT%l

4. Friction increases the speed of rotation. /aﬁm%ﬁ%mﬁnﬁaaaﬁél

Correct Answer :-

« Rolling friction is less than the indingfriction./?- L WWG@W@WW%I

4) What are the crops grown during the rabi season? /

T I & R B BHd SIS ol 82
1. Blackgram and soya bean /Eb'lﬁilef 3R IR S
2. Wheat and mustard /ﬁ'ﬁ 3R Tt

3. Maize and pigeon pea / HIh] 3R 3R

4, Paddy and cotton / YT 3R HUE

Correct Answer :-

« Wheat and mustard /ﬂ_g@?m

5) Sickle cell anaemia is a disease that is /

I PIRPT SR U T 2 Y Hrik
1. infectious / HhTHP
2. developed through vectors / ﬂw%mm@r IEEQRG]

3. inherited / &rrz[aﬁm

4. non infectious / TR TshTH®

Correct Answer :-

« inherited / &I'Iﬂaﬁﬁ

6) Stainless steel vessels are provided with copper bottoms because: /
RN W & g 19 & YR F T1Y 3w 91a § Faifes:
1. It gives a good appearance to the vessel /aga?f:fa?r 331 feard %I

2. Stainless steel is a better conductor than copper /W@ﬁ, GIEK SNEL b CRGREIEIRED %I

3. Copper is a better conductor than stainless steel /W, RAag W ot SIEL | CRIEERSEIRED %I
4. Copper expands more than stainless steel /H’T\IJW, T K P 3r0ef &Iﬁlﬂimgl

Correct Answer :-

« Copper is a better conductor than stainless steel /W, LG W ot NNE | CRERSEIRED %I

7) Select the correct unit of energy in terms of the unit of current. /

faggq &t 318 & T A St F T 3H1E FTIgA HY |

1. VAs

2. VAZs
3. V2As
4. VAs?

Correct Answer :-



8) Which of the following is not the unit of work? /
Frafafed 9 & w1 od ot 5915 61 82

1. Newton metre /QE:f'mE?

2. Joule / 9T

3. Erg /T

4. Joule/second / Gjﬂ/@%

Correct Answer :-

« Joule/second / S[@/AHS

9) Electroscope is a device used to: /
AT RBIY USRI BT IUGRT ¥ e forar wirar &:
1. Test the conductivity of a material /
TP ARt B ATl BT URIE0N B & ford
2. Measure the current in an electrical circuit /
fagga uftuy & 4T %1 Ao & forg
3. Measure the voltage across an electrical appliance /
T faggd IUHUN 4R H dlecsl bl AU o frg

4. Detect the presence of electric charge on a charged body /

T AR (o1 R faggd s ot JufRfeT &1 Ul &1 o forg

Correct Answer :-

« Detect the presence of electric charge on a charged body /

T AR (b1 R faggd s &t JufRfer &1 Ul &1 & forg

10) Earthquakes can never cause: /
1. Lightning and thunder / aﬁc’;ﬁ 3R BeTSi
2. Tsunami / ﬂ?ﬂzﬁ

3. Landslides / X
4. Flood /dlg

Correct Answer :-

« Lightning and thunder / H%H 3R AT

11) As mass is related to beam balance, the temperature is related to: /

o1 v R soguT St wge 9 Wetta gar 8, 3 UeR auE @ weita 8:
1. Kelvin / dfea

2. Barometer / SRIHIER

3. Thermometer / YHTHIER

4. Heat / $HSHI

Correct Answer :-



« Thermometer / YHIHIE

12) The correct statement among the following is: / o 7 '\‘Iﬁ DYd %:

1. Dry ammonia has no effect on litmus paper / {5 ST BT feery TR R P18 YHTE T8l gsal
2. Curd is basic in composition / a‘sﬁ IO H &R %

3. Solution of glucose in water is acidic / o o "Ffﬁﬁf T faayq el %

4. HCl is a weak acid / HC1 U G&dl 31 §

Correct Answer :-

« Dry ammonia has no effect on litmus paper / 5P AN BT felerig TR W aﬁé UYIq el gl

13) The amount of heat produced in a metal wire depends on the: /

TS UTd & dR A Iarfed o1 &) A A w Ak ot @
1. Atmospheric pressure / aTQFUETﬁ'q HE

2. Atmospheric humidity / aTﬁTI?:?ﬁ'q TSar

3. Atmospheric temperature / a@q@’?ﬁu dIgHT

4. Current passing through the wire. / dIX I yaIfgd YRT R

Correct Answer :-

« Current passing through the wire. / X Y YaIied 4RI IR

14) Sugar can be extracted from its aqueous solution by: /

A+t 1 50 wiefta e @ 3 faftr gy s ifa s o waan 2:
1. Chromatography / HIHCHIHL

2. Distillation / 3THdT

3. Evaporation / qrefiemRor

4. Filtration / fGaH

Correct Answer :-

« Evaporation / qrefiemRor

15) Calculate percentage of nitrogen in ammonium sulphate. /
I aH Tethe | ATge o & Ufa=rd &1 T S

1. 28%

2.36%

3.6.02%

4.21.2%

Correct Answer :-

o 21.2%

16) Sulphur and oxygen atoms combine together in the ratio of 2:3 by mass to form an oxide. What will be the correct formula of the
oxide?
[Atomic masses: S =32 u, O = 16u] /

B IR TR TR T RIS T & T Soq|T= gIRT 2:3 & 3UTd A TP ga¥ & A1y WAord g1a 1 sifqargs &1
TS G FT R



[URHTY] SSHTHTH: S =32 u, O = 16u]
1.5,03
2.550,
3.50,

4. 503

Correct Answer :-

. SO,

17) Which type of energy transformation takes place when fuel is burnt? /

T TATE S R P UHR &7 Sell Uiarvl giaT 82

1. Chemical energy is converted into heat energy. / RRIRIEED Wf, i Foif & ufkafdd gt o 21

2. Chemical energy is converted into mechanical energy. / RICIRE _m'TSﬁ, Tifde St § gRkafda E;f STt % |
3. Heat energy is converted into chemical energy. / [ ] Wf, IEHE Soit § uRafda S| %I

4. Heat energy is converted into mechanical energy. / [ Er;‘_\rl'f, gifye it § aRafdd HEIGH %I

Correct Answer :-

« Chemical energy is converted into heat energy. / IS S , oty St & ufvafda E?f SiGil %I

18) Which one of the following will take the shape of an open container in which it is kept? /
fFrafifEa & @ 1 te ga ue 8 @1 IR SUST ATHER & A2

1. Lemon juice. / 1§ &1 39|

2. Ice cubes. / T & gﬁbél

3. Chilly powder. / foRf OT3 SR

4, Oxygen gas. / TR 1

Correct Answer :-

« Lemon juice. /:ﬁqw 1

19) Which of the following is weed. /
fFrafafed # 4 #19 SRuqar 31

1. Xanthium only / I SR

2. All the above / SURTGT Tt

3. Grass only / &Id N

4. Parthenium only / FHaa ey

Correct Answer :-

« All the above / ITRIad It

20) Which is a set of transparent material? /
qRezff It &1 Te A FH-A18?

1. Water and air / T} 33? Bdl

2. Turmeric powder and water / E’("—pr LIRS Gﬁ? Tt
3. Alum and water / foFea st 3R Tt

4, Charcoal and water / TR 3R T



Correct Answer :-

« Water and air / Tt Gﬁ? Bdl

21) One of the statements made about the formation of soil is inappropriate. Identify the same. /

frdt & fFmfor & 9 3 w1 Sy ° A v srgfua 81 i &y gra a9

1. Strong winds do not play any part in the erosion of rocks. /
A G TS & FeTa H IS YfHewT 6t AU 8

2. Fast flowing water carries big and small rock particles and these rub against other rocks. /
AT FEdT U, 9 SR BIC IS HUN HI A 91T § SR T 3T IgHI Y WIS WS § |

3. Water gets into the cracks in the rocks formed during uneven heating. When the water freezes, it would widen the cracks./
SFTH A9 & SRM S TSI & IR W U G ST 8 | 97d UTHT ST STl 8, Y 399 xR ISt 81 St 8

4. Due to the exposure to sun, all the parts of the rock do not expand and contract at the same time, cracks are formed and rocks break up. /

YRS & YUeh H 3 b BRUI, TgH S T RTHT b1 TR T8 BIell & 3R FHM IR A 4t 41T & A1 7 81 b R GRR & Sf1ell §
3R ggH ge ol §1

Correct Answer :-

« Strong winds do not play any part in the erosion of rocks. /
AT gAY TSI & Ferd | His UftenT T8t T g1

22) is used for making mirrors. /

_ siyamedu s & e fear wrar 21
1. Silver / dict

2. Carbon / &

3. Sodium / HIfETH

4. Sulphur / gehX

Correct Answer :-

. Silver/aw'lapf

23) Which acid is used in Storage Batteries which supply electrical energy? /
fagga Suf ot smyfd w1 arel wike Sl § g 3 &1 IuahT g 82
1. Nitric acid / TS 3

2. Hydrochloric acid / E:'TS'@W ST

3. Acetic acid / THife® 3
4. Sulphuric acid./ TR 30

Correct Answer :-

« Sulphuric acid./ GeHRIRE T

24) Which gas is pumped into plastic bags containing food items fried in oils and ghee so as to slow down the oxidation of oils and fats? /

ad 3R O & T& gU wre uerd & Wi ARl A dd 3l a1 & SifRferur &1 iar B F o T A9 =) wifea fear srar @2
1. COy

2.50,

3.Np



4. Hy

Correct Answer :-

.NZ

25) What is the common name of chemical NaHCO3? / N IDIEED NaHCO; PT ITHT ATH HIT 8

1. Lime soda / T &1 ST (A13H TSN

2. Washing soda / ?:Kﬂ's‘ ARSI (aﬁm ?ﬁgl)
3. Caustic soda / PIeH ST

4. Baking soda / Q@ B HI8T (aﬁﬂ'[ @3'[)

Correct Answer :-

- Baking soda / @ B HI8T (w @?:T)

26) What is the name of the ion with the formula Cl03~? /

A C10;~ a1 TP AT BT HTH FT 82
1. Perchlorate / TRGARET

2. Hypochlorite / FECIESINES

3. Chlorate / FAIRC

4. Chloride / FIRTSS

Correct Answer :-

. Chlorate / FARE

27) Which of the following is a disadvantage of improvised science lab apparatus? / Fafaf@a A3 s @

AT faqT= YaRT=ITar SUSHRvil o 31 &2

1. Easily available / ST IUAR]

2. Provides cheap alternative raw materials /WWWWWW%I
3. Have good educational value / 3{T81 ﬁf\w HY —5"’“

4. Not durable / feprs :Iébf

Correct Answer :-

« Not durable / CHTS :I?)[

28) Which of the following abilities is not a characteristic of a scientific problem solver? / ﬁ'ﬁ'ﬁf@ﬂ R Eapk|

&HT AP THT T B a1t B fa=wen g7 o2

1. Validation of results / TRUTHI T JATON®HROT

2. Isolate and control the variables / TR &1 PRC 3R Fafa Fen
3. Convergent thinking / SRRY fda

4. Think aloud / 9l fd=IR e BT

Correct Answer :-

. Convergent thinking / SRRY fda



29) Which of the following is an example of inference? / fafafead s SITHTE (S 4) BT TP IGIEX0
F

1. Cactus has modified leaves in the form of thorns, / e H Bicl b =Y H UIdRd gl gidt g
2. Tides are caused due to the moon’s gravitation. / SIR-HICT IGHT ® W‘SFUT & BRI EPIT‘IT %I

3. Electrolysis of water produces hydrogen and oxygen gases on two different electrodes. / SIcl bl ﬁ?{gﬁ 3Oee qf

STT-3(ET AT S] UR BTZG o 3R Sfiafior TG &1 It HRal g

4. Electrical appliances only work when supplied with electric current. / ﬁ_c{ﬂ_d JUH Had a9 BT HId % S ﬁﬂ:ﬂﬁ
T8 & WY ML 1 Sfrelt 2|

Correct Answer :-

- Tides are caused due to the moon’s gravitation. / SAR-HIC] CE| *® Wﬁfm H BRI Bﬁ?ﬂ %I

30) Identify the lustrous non-metal. /
THBGR YT D UG D |

1. Phosphorous | BB RY

2. Carbon / @TaA

3. lodine / 3RS

4. Sulphur / Heth

Correct Answer :-

. lodine / 3TN

31) A pendulum makes 20 oscillations in 10 seconds, then the period and frequency of oscillation are respectively /
T Ugad 10 AHs B 20 S H1 8, ) Sia 31 Mgy 3R srafy wo=r: §:

1. 2s & 2 s hertz

2.2s & s hertz

3. % s & 2 hertz

4. Y% s & 2 hertz

Correct Answer :-
e Y55 &2 hertz

32) There are 20 naturally occurring amino acids. Out of these, 9 are essential and 11 are non-essential. What are essential amino
acids? /

WWﬁm@%aﬁmmzom$m%lﬁﬁﬁ9maﬁ?n SFTIRTF I & | TaIRIS TR St T

1. It must come through diet / 3@ WW%WEPHTW%Q
2. Itis made in our body/WﬁﬂfﬂTgﬂﬁQ IR ﬁa?ﬂ%
3. It is more important than non-essential / g SFTH & T &rfﬂwuga@fsﬁﬁ%

4. Essential for body / TRR & o Siaxas

Correct Answer :-

« It must come through diet / 3@ Wﬁmm?ﬂm



33) When we strike the membrane of a mridangam, the sound we hear is the sound produced by
the ./

oS &9 HETH B feell R ISR #xa 8, A gA S | g1d 8, 98 g1 fAfifa a3
1. membrane only / ad f3reelt

2. the drum stick / 9 fc®

3. whole body of the instrument / $EHE &1 QX1 ™

4. body other than the membrane / It & 3farar e

Correct Answer :-

« whole body of the instrument / Eﬁ'ﬁ? PR e

34) If the secondary consumer receives 10 KJ of energy ,what would be the energy at the level of producers ? /

Tfe fgdia® Iuier 10 fraioa Sl T $3dT 8, @ IAEH] $ TR R Hell fva-t gRi?
1. 1KI/ 1 fode@

2. 1000 KJ / 1000 fratie[a

3.10,000 KJ / 10,000 faraiiela

4,100 KJ/ 100 foaiera

Correct Answer :-

« 1000 KJ/ 1000 foatiera

35) An electric current of 2A is flowing through a conductor for 10 minutes. What is the net charge of the conductor?/
10 forie & oY Ue Tae® & ureaw @ 24 F1 fAgyd YR yaTied gl § | HaTe® &1 Y5 1IN [pa-r 82

1.20C

2. 1200C

3.0.02C

4.0C

Correct Answer :-

36) When the wrist watch shows 8.10 am, the odometer of the vehicle shows 8484 km. When the watch shows 8.40 am, the
odometer shows 8500km. What will be the speed of the car? /

i HTS ISt I & 8.10 Tof T WY STt § 3R 3 THY T BT SIS HiTex 8484 fHHl. faamar g1 afe ot Yoz &
8.40 T3 FT FHY feamdt 3 3R sitsiHier 8500 . feaman B, @t R &t arat frah ghir?

1. 64km/h / 64 fopHi/EeT
2. 32km/h / 32 fobdii/der
3. 16km/h / 16 fal/EeT
4. 18km/h / 18 faii/Eer

Correct Answer :-

« 32km/h / 32 foEei/eer

37) 220V, 50 Hz ac is converted into 110V dc. The frequency of the dcis: /
220V, 50Hz Tt &Y 110V Rt § ufkafda forar smar 81 SRi 3t emafr &:
1.25Hz

2.50 Hz



3.220 Hz

4.0 Hz

Correct Answer :-

e OHz

38) CANCELLED

When a light undergoes reflection, the velocity of the reflected light is always: /
W9 U YT Ufafda & erdr 8, ufafifd yer &1 31 9eq ug dar e
1. Less than the velocity of the incident light / 3ufad UHT & o o HH

2. Equal to the velocity of the incident light / 3ufad UHT & AT & THH

3. Greater than the velocity of the incident light / 3Mufad UHT & AT J34fdeh
4, Depending on the material of the reflecting surface / gfafdfod Tdg F Ui W ﬁ"km_vﬂ%

Correct Answer :-

« Equal to the velocity of the incident light / 3Mufdd YT & A7 & THH
39) CANCELLED

Magnitude of displacement in one second is called: /

TP Qs # g4 aTat FIRITe= & ufearor ) g1 9irar 3

1. Acceleration / <0l

2. Momentum / 3G

3. Speed / dlcl

4, Force / dd

Correct Answer :-

o Speed /dIdd

40) Four different liquids such as mercury, water, soap solution and honey are kept in four different vessels. Which of them will
show greater temperature? /

TR 3E-3AT USIAT & R S URT, U, A1 fIag= 3R e &1 IR SIeT-3@T Tt § 3@T o1l 81 39 | BiH-91 e arqas
@™

1. Honey / I8 &
2. All will have the same temperature /Hﬂ-ﬁa?—fww 3 1

3. Mercury / URT
4. Water/tl'Fﬁ

Correct Answer :-

« All will have the same temperature /Hlﬁmww 6 {

41) Human ear can respond or sense the sound which has a frequency range /

HFa ST, @i B G 9139 W ufafear § awar g et smqfr 4oft g1 3:
1.2 Hz to 20 Hz / 2 ¢S ¥ 20 §eol b

2. 2Hz to 20 kHz / 2 81 § 20 fohaligesl o

3. 20 kHz to 20,000kHz / 20 foraigest ¥ 20,000 frdiges s

4.20 Hz to 20 kHz / 20 891 9 20 fordiigest adb



Correct Answer :-

« 20 Hz to 20 kHz / 20 B¢ ¥ 20 frdiges d&

42) Identify the component of the biosphere that is biotic /

Sarvsd F SAfde geH B UgdAH BT
1. Soil / gal

2. Air / Bdl

3. Living Things / Siifad a¥gd

4. Water / 5T

Correct Answer :-

« Living Things / Sifad a&qd

43) Which group of organisms are not constituents of a food chain?
i. frog, snake, eagle, grass hopper, grass.

ii. grass, lion, rabbit, wolf.

iii. fish, plankton, grass hopper, man.

iv. snake, grass, tiger, wolf.

Sial BT I AT UG W §TAT PT TSP 781 82

ii.. 9T, TR, @R, W$A

iii. Ao, Waw, feg, smaHt

iv. WY, 919, 919, Wi$an
Liandiv/i3WRiv
2.iandii/i 3MRii

3. jii and iv / iii R iv

4. ii and i / i 3R iii

Correct Answer :-

« i and iv / iii 3R iv

44) The time difference between the actual sunset and apparent sun set is about: /
AR gaiva SR Tt Yuid & S wwa &1 iR @y fba 8:

1. Half minute/ 3T fie

2.2 minutes / 2 fFIE

3. 5 minutes / 5 BT

4. 2 seconds / 2 Jhs

Correct Answer :-

« 2 minutes /2 e

45) Autotrophs synthesize 10,000 KJ of energy. If the food chain consists of four trophic levels what is the energy
available to the fourth trophic level? /

WU (3MTEIeIF) Hell & 10,000 fFaare &) Gl $d 1 afe @re e # IR fidwdr (eifbe) W= 81d & o Y
Qf¥ear (Sih®) TR W Hut fba- gt 82

1. 1KJ

2. 1000KJ



3. 100KJ

4. 10KJ

Correct Answer :-

« 10KJ

46) Technology should be used asa_______ by the teacher for teaching-learning process. / f1&0r-3fRRTH

PP RU @ REE PRI > &0 Mg &1 SUahT e fpar s 9yl
1. tool / YT (¢

2. subject / Ao

3. substitute for teaching / fR1&0T & for RiTIH

4. driver / dIclh (SILAR)

Correct Answer :-

. tool / SUHRUT ()

47) puring World Wars, massive industrial progress occurred. This shows that: / ﬁ%{ g?ﬁ * aTFT, E@; TR W

et wfa g1 ag amifan & f&:

1. Science responds to the needs of society. / TO, THIS &1 Sma=gddrsii &1 ufdfeean é?ﬂ%l
2. Science responds to the desires of society. /ﬁ?l'l:f, AT BT 3@3?[ CARIGIER é?n %I

3. Science works for the benefit of society. / ﬁ?‘lﬁ, U &b Y b 1%1'@ BT Bl %I

4. Science brings progress to society only. / ﬁ?‘ﬂ:f, PHad JHTS H Wl ST %I

Correct Answer :-

. Science responds to the needs of society. /ﬁ?‘ﬂ:f, U D HTGRID T3l bt ufafesar a?ﬂ%l
48) A law describes a/an ./ T® w9, T 1 gui BT B

1. set of interconnected principles / URTUR Rigidl e1de

2. abstract idea / Q‘Fff ICEIR

3. single phenomenon / Teh ¢l YT

4, set of phenomenon / YcHl T

Correct Answer :-

. single phenomenon / U ¢l Yl

49) Which of the place is more safe at the time of lightning? /

AET & Toy S H T8 e WRIEE 72

1. Open fields / Eiﬁ &=

2. Open vehicles / Eﬁaﬁ:{

3. Inside a vehicle with all windows and doors shut / Hlﬁ@m 3ﬁ? CCINES [ anﬁ CIRE] *® iR

4. Elevated place / 3l ®IH

Correct Answer :-

« Inside a vehicle with all windows and doors shut / Hlﬁ@m 3R AT §¢ aﬁm% iR



50) Using a science park visit is an example of : / fdFTF UTh B YT BT, 5 AFATH BT TH IS8 &:
1. Experimental learning / T 3ffeTy

2. Collaborative learning / WTW AT

3. Analogy strategy learning / HIERY oI SHfeRTH

4. Rote learning / 3R] ST

Correct Answer :-

. Experimental learning / ITAIRT® S{EATH

51) Formulating policies, monitoring the effects of policies, enforcing compliance with the policies, demonstrating
accountability, making comparisons and monitoring progress towards goals are conducted at: / Hifeai CEIG]A

ot & gural &) PR @, Hifoat &1 srgures ang $R-1, Saraes! uelkia ST, o HeAr o
aeal & ufa wofa &t Rt S gt wR smaifora %3 o

1. District Levels only / FHad fordl TRI |

2. All of the above /Gvcjaamﬁ

3. National Levels onIy/WT@HEﬁW
4. State Levels only/wwwq?

Correct Answer :-

« All of the above /Wﬂlﬁ

52) An advanced technique to improve thinking and problem solving-skills comprises of decomposition, i.e.

breaking large problems into small units, is known as: / O R 0T B Wﬁ P piva A JUR PP
m,%mmWﬁﬁﬁmmﬁﬁm%wﬁ%aﬁamsﬁﬁmﬁmaﬁaﬁ?ﬁm,aﬁﬁww
SIGLGH

1. Context-Based Learning/ e-anemia siftrma
2. Computational Thinking/ HYHAITHS idT
3. Crossover Learning / Hra3fiar ey

4. Embodied Learning/?lﬁ'%a SfRTH

Correct Answer :-

. Computational Thinking/ B ATIHD fefdq

53) Evaluation can be done for all of the following objectives, Except: / * ﬁmq, ﬁ'ﬁﬁl’@ﬁ it
IRl & Y geaie- far &1 aoar g1

1. To know about the learning gaps in students. / DA H ST SiavTal & SR H S

2. To identify the students who require remediation. / 31 BT B! UgAM HRAT foIg SUIR B! SMALIHT §

3. To get evidences to know the extent of a student’s learning. / fodt o= & St o A 9IFA & 1%111 THTUT T B
4. To give performance feedback to students. / BE & El'c("‘x’ﬁ TR gfafesar é?r

Correct Answer :-

. To identify the students who require remediation. / 37 ST DI UM HRAT folg SUIR &1 SAaaHhdl §

54) Which of the following should a teacher avoid while encouraging students to develop problem solving skills? /

HHE 6 B & P19 DI fapRia $37 & g o o) dienfed 34 g¢ e ot Fafafea d d fFa a



CERIGI

1. Provide prescriptive hints to students. / SHI B! MRS ddbd U™ &=l
2. Encourage students to question. / B DI U FA & foIQ gieied Hl

3. Design various types of problems. / st & Al UdR &I fSog &=l

4. Design problems to generate cognitive conflict. / IIHTHD Ty ITd B %ﬁmw ERIESESSI

Correct Answer :-

« Provide prescriptive hints to students. / B B FARMTES Hdbvd U™ HRAT|

55) Elephantiasis is caused by: /

1. Worms / ®1S

2. Mosquito / AR

3. Protozoa / UICISIIST
4. Bacteria / ST

Correct Answer :-

« Worms /ﬁ‘é}

56) Megha scores well in physics. Sneha is equally good at the subject but is unable to score well in school. She is most
probably lacking in ./ AET A Wifae ¥ oy sie ur farw | FeT oY 3w fawa o oft ot € ot B Afp
faermerg A ored o U we N eywd 31 Hyaa: a8 T 98 IR B

1. Conceptual knowledge / b eU-THD I

2. Procedural knowledge / Ui ares I

3. Factual knowledge / dHTHD AT

4. Metacognitive knowledge / TeIIHTIHS I

Correct Answer :-

- Metacognitive knowledge / RIS I

57) Which of the following statements reflect a shift in pedagogy after implementation of NCF-2005? /WQTF-ZOOS

& FI-ag- & gyt Fafafaa & @ S 91 Fu Rigm=iva o 9eara &1 giiar 82

1. Teaching should focus on specific disciplines./ FRI&0T &1 fafRry fowal oR &= dHfad w1 @1fge
2. Assessment should be continuous. / 3ffberd AR §HT AT

3. The teacher guides and monitors the class. / R1e/® Hem &1 Wﬂmh 3R fARYeror wwar %I

4. Written tests are the only method of assessment./ forfaa qﬁ&ﬂ, 3fiHad Hi UhHA fafer %I

Correct Answer :-

. Assessment should be continuous. / 3haT RGN 6 Al an%T{I

58) Which of the following is false about audio tapes as teaching aids? / fFraferfaa # A P Rreror ared & FU A
3fifsat 3y & fawg o Tera 82

1. They can be reproduced easily. / 3% A & g Y7 fHa1 ST g g |
2. They are portable. /g gdTel (qﬁifaa) Eﬁ?f %I



3. They are expensive. / 3 Il?ﬁ Eﬁ?f % [
4. They can help visually impaired students. / J €SS BT &t Heg HR IHd 8

Correct Answer :-

« They are expensive. /ARG B %I

59) Which one of the following Organic acids is present in Spinach? /
Frafafed & @ o149 w1 Srefe o, urees & TR ST 82

1. Tartaric acid. / TRCR® 3|

2. Malic acid. / BfeT® 3 |

3. Citric acid. / T3¢ 3fF |

4. Oxalic acid. / 3fTeRATTeTep 31|

Correct Answer :-

« Oxalic acid. / 3iTaATeIP 3T |

60) Even though sponge is a solid we are able to compress it and change its shape. Why? /
eIy Tl U 319 B, BH I HHTRId B4 3R ISP ATPR B daa § W& &1 F912
1. Particles in sponge are closely packed. / TGl & HU U S F gl % I

2. Sponge is a pseudo solid. / Tl Uh B3I 3 %

3. Sponge is a super cooled liquid. / ¥4 Th Sf-=had ga %I

4. Sponge has small holes with air trapped in them. / Wl & Ble-BIc foal & REIRES _Eﬁ_rﬁ % |

Correct Answer :-

« Sponge has small holes with air trapped in them. / TSl F Ble-BIc fBal H g1 Bt gt % I



